A STUDY ON SOURCES OF GOVERNMENT INTERNAL DEBT IN TERM OF NEPAL

A THESIS

Submitted by:

Shantosh Uprety

T.U. Registration No- 7-2-25-121-2002

Exam Roll No.: 5093

Campus Roll No.: 1065/062

Shanker Dev Campus

Submitted to:

Office of The Dean

Faculty of Management

Tribhuvan University

in partial fulfillment of the requirements for the Degree of Master of Business Studies (M.B.S.)

> Putalisadak, Kathmandu June 2009

VIVA – VOCE SHEET

We have conducted the viva – voce examination of the Thesis

Submitted by:

Shantosh Uprety

Entitled

SOURCES OF GOVERNMENT INTERNAL DEBT IN TERM OF NEPAL

And found the Thesis to be the original work of the student written in accordance with the prescribed format. We recommend the thesis to be accepted as partial fulfillment of the requirement for Master Degree of Business Studies (M.B.S.)

Chairperson, Research Committee:---- Member (Thesis Supervisor): ---- Member (External Expert): ------ Date: -

<u>Viva – Voce Committee</u>

RECOMMENDATION

This is to certify that the thesis

Submitted by	y:
--------------	----

Shantosh Uprety

Entitled

SOURCES OF GOVERNMENT INTERNAL DEBT IN TERM OF NEPAL

	artment in the prescribed format of Faculty of Mana is forwarded for examination	gement.
(Mr. Kiran Thapa)	(Mr. K.D. Manandhar)	
Thesis Supervisor	Thesis Supervisor	
Head of Research Department	(Kamal Deep Dhakal)	
	Campus Chief	

DECLARATION

I hereby declare that the work reported in this thesis entitled **SOURCES OF GOVERNMENT INTERNAL DEBT IN TERM OF NEPAL** submitted to Shanker Dev Campus, Faculty of Management, Tribhuwan University, is my original work done in the form of partial fulfillment of the requirement for the Master of Business Studies (MBS) under the guidance and supervision of Mr. Kiran Thapa and Mr. K.D. Manandhaer Shanker Dev Campus, Tribhuwan University.

ח	2	t	Δ	•	_
ட	7	٠.	ι.		

.....

Shantosh Uprety

(Researcher)

T.U. Registration No- 7-2-25-121-2002

Exam Roll No.: 5093

Campus Roll No.: 1065/062

Shanker Dev Campus

ACKNOWLEDGEMENTS

This study is designed to highlight the importance of Sources of government internal debt in term of

Nepal. I am especially thankful to my respected supervisor Mr. Kiran Thapa and Mr. K.D. Manandhar,

Shanker Dev Campus, for their scholarly and constructive guidance and suggestion. Their guidance and

help has been a great source of encouragement and inspiration to me. Without their valuable insight

and time, I would not have been able to complete it.

I would like to express my heartily thanks to management of Ministry of Finance and Nepal Rastra Bank

Limited for providing various information for the study. I express my thanks to my friends for their

credible help and co-operation.

I am very grateful to all of those who have helped me especially all the member of my family who

provided regular inspiration and continuous contribution and support for my success.

The acknowledgement remains incomplete without special thanks to Mr.Ramesh Shrestha (Global Books

and Stationery, Campus Road, Minbhawan) for taking a good care of the technicalities of computer

typing and setting.

June, 2009

Shantosh Uprety

Shanker Dev Campus

Putalisadak, Kathmandu

Annex- 1: Data fitted in regression equation

in Rs. Million

Year(X)	X = X- 1997	TID (y)	Ху	X ²	X ³	X4	x²Y
1987	-10	9042.1	-90421.0	100	-1000	10000	904210
1988	-9	11636.0	-104724.0	81	-729	6561	942516
1989	-8	14929.1	-119432.8	64	-512	4096	955462.4
1990	-7	15079.2	-105554.4	49	-343	2401	738880.8
1991	-6	20855.0	-125130.00	36	-216	1296	750780.0
1992	-5	23857.2	-119286.00	25	-125	625	596430.0
1993	-4	28730.3	-114921.20	16	-64	256	459684.8
1994	-3	31315.9	-93947.70	9	-27	81	281843.1
1995	-2	32800.9	-65601.80	4	-8	16	131203.6
1996	-1	30530.1	-30530.10	1	-1	1	30530.1
1997	0	36839.9	0	0	0	0	0
1998	1	43630.6	43630.60	1	1	1	43630.6
1999	2	50512.0	101024.00	4	8	16	202048
2000	3	54879.7	164639.10	9	27	81	493917.3
2001	4	66590.5	266362.00	16	64	256	1065448
2002	5	79518.3	397591.5	25	125	625	1587957.5
2003	6	84645.3	507874.8	36	216	1296	3047230.8

2004	7	86133.7	602935.9	49	343	2401	4220551.3
2005	8	87565.3	700522.4	64	512	4096	5604179.2
2006	9	89564.9	806084.1	81	729	6561	7254756.9
2007	10	99303.8	993038.00	100	1000	10000	9930380.0
Total	0	997959.8	3614150.4	770	0	50666	39241640.4

Annexure- 2

The percentage change calculation by using following formula.

percentage of debt inyears with respect to total internal debt = total debt in year Total internal debt so,				
percentage of debt in 2000 with respect to total internal debt =	54879.7	*100		
= P ercentage of debt in 2001 with respect to total internal debt =	755431.00 7.3% 66590.5	*100		
=	755431.00 8.9%			
Percentage of debt in 2002 with respect to total internal debt =	79518.3	*100		
=	755431.00 10.6%			
Percentage of debt in 2003 with respect to total internal debt =	84645.3	*100		
=	755431.00 11.2%			
Percentage of debt in 2004 with respect to total internal debt =	86133.7	*100		
= Percentage of debt in 2005 with respect to total internal debt =	755431.00 11.4% 87565.3	*100		
=	755431.00 11.6%			
Percentage of debt in 2006 with respect to total internal debt =		*100		
=	755431.00 11.9%			
Percentage of debt in 2007 with respect to total internal debt =	99303.8	*100		

755431.00 = 13.2%

Percentage of debt in 2008 with respect to total internal debt = 107229.5 *100

755431.00

= 14.2%